flmportant Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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' Tg‘??alizf(plelln the t
_The three condu
are 3 meters apart The diameters of each conductor is 4cm. Determine the inductance per

Discuss the advantages of high Voltag&s in transmission system. (08 Marks)
List the methods of improving strmg efficiency and explam the use of guard ring for
improving string efficiency. & 3 (06 Marks)
A transmission line conductor having a diameter of 19. 5p1m welghts 0.85kg/m. The span is
275m. The wind pressure is ¥ 9kg/m of projected: rea with 1ce coating of 13mm. The
ultimate strength of thﬁ%co‘nductor is 8000kg. Cal xxxx

safety is 2 and ice Welgﬁ%s 910kg/m’.

(06 Marks)

OR .
. am explaln feeders, dlstnbutor and service main of a distribution system.
w (06 Marks)
Draw the flne diagram of a typlcal power supply scheme mdlcatmg the standard voltages.
(06 Marks)
In a 5 sinsulator disc string capac1tance of each umt and earth is st of the mutual
capacitance. Find the voltage dlstrlbutlon across each insulator in the string as a percentage
of voltage of conductor toﬂ@aﬂh Find also the smng @fﬁmency (08 Marks)
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) Module-2.~
Derive an expression for the inductance of a ‘'single phase two'wire line. (07 Marks)
Derive an expression for line to neutral capacitance for a 3 “ph' overhead transmission line
when the conc}uctors are unsymmetncak placed. W (08 Marks)
The 2cm diameter conductors ot; a:3-phase 3-wire transmission line are situated at the

corners of atriangle of sides 3. Sm "5m and 8m. Fmd §1:he capacitance per conductor per km.
‘ (05 Marks)

(05 Marks)
«««««««« (05 Marks)

,ﬁf’)f a 3-phase transmlssmn line are arranged in a horizontal plane and

km of each phase Assume balanced load and R, Y, B phase sequence. (10 Marks)
:'»‘Eoszw
Module-3
Explain how transm1ss1on1mes are classified. (04 Marks)
Define voltage regulatlon pf a transmission line. (04 Marks)

A 3 phase, 50Hz transmissmn line, 100km long, delivers 20MW at 0.9 power factor lagging
and at 110KV. The résistance and reactance of the line per phase per km are 0.2Q2 and 0.4Q2
respectively. Whilg'the capacitive admittance is 2.5 x 10 mho per phase per km.

Calculate :

i) Voltage and current at the sending end

i) Efﬁc;emcy of transmission line use nominal — T method. (12 Marks)
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Write short notes on Ferranti effect. (04 Marks)
Two transmission lines having generalized constantﬁ(s;( Ay, Bi, Ci, D1 and A, By, C; D; are
connected in Tandem. Develop expressions for the “overall constants A, B, C, D of the
combination. Wi (06 Marks)
A single phase transmission line supplies a oad of IMW at 11KV, 0.8 pf lagging. The
resistance and reactance’s of the line are 5C2 nid.10Q respectively. Determine :

i) Sending end voltage Gy

ii) Efficiency of transmission line
iii) Percentage regulation.

(10 Marks)

With reference to corona ge‘ ‘an expression for disfitg;ive critical voltage and visual
critical voltages. A 7 P (08 Marks)
Derive an expression for-instilation resistance of a simple core cable. (05 Marks)

A 132KV line with 195 cm diameter conductors“are built so that corona takes place if the
line voltage exceeds 21

210KV (rms). If the value ‘of potential gradient at which ionization
occurs can be takei?la;as 30KV per cm (peak) thén find the spacing between the conductors.

ission system. Ay (07 Marks)
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List the'advantages and disadvantages of corona. RE SN (06 Marks)
Define grading of cables and explain instersheath gradin y of cables. (08 Marks)

For most economical diameter of single core cable to:berused on a 132KV, 3-phase system.
_permissible stress is not to exceed
ralh (06 Marks)

: (08 Marks)

A £ 47 (04 Marks)
ing and is fed at point ‘A’ and it is loaded as follows:

i) 100 A at 0.8 pflag 200m from A,

ii) 150A-at 0.707 pf lag at 500m.from A P -

The total resistance and reactanc ‘of the distributor dre 0.2Q and 0.1Q per KM respectively.

If the receiving end voltage'is 400V. Find the sending end voltage and power factor.

N (08 Marks)
Define :
i) Reliability .
i) Availability
iii) Adequacy
iv) Security (08 Marks)
Write a note on limitations:of distribution system. (06 Marks)
Discuss the effect of dis%\gn‘ihection of neutral in a 3-phase four wire system. (06 Marks)

* %k ok ok ok

2 of2




